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1)	Implement	the	model	described	in	McClure	et	al.	(2003)	and	show	how	this	
reproduces	the	effects	of	dopamine	antagonists.	
	
2)	Redish	(2004)	has	suggested	that	certain	forms	of	drug	addiction	arise	from	a	
“dopamine	surge”	in	the	prediction	error	computation.	Explain	how	this	fits	with	the	
McClure	model	and	show	how	the	model	can	produce	runaway	values	for	drug-
related	states.	
	
3)	How	is	this	model	related	to	the	average	reward	reinforcement	learning	model	
described	by	Niv	et	al.	(2006)?	
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